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NỘI DUNG BÀI THI
Question 1: Choose the word that has the underline part pronounced differently from the others


A. benefit 
B. invent 
C. precise 
D. adventure
Question 2: Choose the word whose primary stress is different from the others

A. competitive 
B. unreachable 
C. geometric 
D. normality
Question 3: Choose the word that has the underline part pronounced differently from the others

A. measure 
B. cause 
C. poison 
D. disaster
Question 4: The pilot was the only man _______ after the crash.

A. was rescued 
B. rescued 
C. rescuing 
D. to be rescued
Question 5: Jollie ________come with us because she has broken her leg in an accident

A. mustn’t 
B. may not 
C. can’t 
D. All are correct
Question 6: There are _____ many people in the room that I feel bored and would like to go home

A. such 
B. so 
C. enough 
D. too
Question 7: When Philip comes to the hospital tomorrow afternoon, the doctor _____ an important surgery for the Prime Minister

A. is conducting 
B. will conduct 
C. will be conducting 
D. has been conducting
Question 8: During the emergency, a lot of people volunteered _______ through the night

A. to working 
B. to work 
C. working 
D. being worked
Question 9: ________ developments have changed the shape of industry

A. technology 
B. technological 
C. technocratic 
D. technologically
Question 10: You __________ use my dictionary if you want

A. must 
B. might 
C. may 
D. have to
Question 11: Do you think there would be less conflict in the world if all people _____ the same language?

A. spoke 
B. speak 
C. had spoken 
D. will speak
Question 12: The host asked Peter _______ tea or coffee.

A. whether he preferred 
B. that he preferred 
C. did he prefer 
D. if he prefers
Question 13: Survivors of the plane crash __________ to find food and shelter until the rescue team arrived

A. struggled 
B. had been struggled 
C. had struggled 
D. were struggled
Question 14: Choose the best option A,B,C or D to complete the sentence
- “It was very kind of you to help me out, Paul
- “ ____________”

A. I’m glad you like it! 

B. Thanks a million

C. That was the least I could do 
D. You can say that again
Question 15: Choose the best option A,B,C or D to complete the sentence
- What’s the matter with your son?
- “_____________”

A. He went to London two weeks ago 
B. He’s just graduated from university

C. He’s got a headache 

D. He did an experiment on a cure for the headache
Question 16: Choose the best option A,B,C or D to complete the sentence
Customer: “ _______”
Salesman: “ It’s over there, next to the tea and coffee”
A. I’m sorry. I didn’t buy the tea and coffee
B. Can you help me? I can’t carry the tea and coffee?
C. How much is a kilo of tea and coffee?
D. Excuse me, where’s the tea and coffee?
Question 17: Choose the best option A,B,C or D to complete the sentence
- Why don’t you come over and see the new film with me?
- “ ___________. I’m free now”

A. I’m afraid not 

B. Great. I’d love to

C. Sure. Please do 

D. Wow! I didn’t realize that
Question 18: Choose the best option A,B,C or D to complete the sentence
- Do you like that advanced course you’re taking, John?
- “ _____________”

A. No, thanks 

B. By and large, yes

C. Not me. I’m still watching 
D. No, not everyone
Question 19: To Vietnamese students, the ______________examination to university is very difficult

A. require 
B. requirement 
C. requisite 
D. required
Question 20: The company’s board of directors announces to award prizes to the employees who can ___good solution

A. come up with 
B. catch up with 
C. go through with 
D. live up to
Question 21: A large part of what we ________ to each other is nonverbal

A. reveal 
B. inform 
C. communicate 
D. suggest
Question 22: They threatened _______ from the team if he didn’t come to practice

A. to drop 
B. dropping 
C. to dropping 
D. Both A & B are correct
Question 23: Neil Armstrong and Buzz Aldrin planted an American flag on the lunar surface as a(n) ___ of their adventure on the Moon


A. remnant 
B. image 
C. shadow 
D. trace
Question 24:


- I think the main problem in this area is the lack of a good bus service
- You’re right. You’ve hit the ___________ on the head

A. nail 
B. wall 
C. lips 
D. hand
Question 25: Although they are twin, they have almost the same appearance but they are seldom in ____

A. agree 
B. agreeable 
C. agreement 
D. agreeably
Question 26: The more ________ and positive you look, the better you will feel

A. confide 
B. confident 
C. confidently 
D. confidence
Question 27: Indicate the words or phrases that are CLOSET in meaning to the underlined words in each of the following sentences
Jose had a hard time comparing the iPhone to the Samsung phone because to him they were apples and oranges.

A. containing too many technical details 
B. very similar

C. completely different 

D. very complicated
Question 28: Indicate the words or phrases that are CLOSET in meaning to the underlined words in each of the following sentences ( ngữ cảnh về tiểu sử - đáp án dạng giải thích từ đó)
That the genetic differences make on race superior to another is nothing but a tall story

A. cynical 
B. unbelievable 
C. untrue 
D. exaggeration
Read the message and choose the best answer
Glass is a remarkable substance made from the simplest raw materials. It can be colored or colorless, monochrome or polychrome, transparent, translucent, or opaque. It is lightweight impermeable to liquids, readily cleaned and reused , durable yet fragile, and often very beautiful. Glass can be decorated in multiple ways and its optical properties are exceptional. In all its myriad forms – as table ware, containers, in architecture and design – glass represents a major achievement in the history of technological developments.
Since the Bronze Age about 3,000 B.C., glass has been used for making various kinds of objects. It was first made from a mixture of silica, line and an alkali such as soda or potash, and these remained the basic ingredients of glass until the development of lead glass in the seventeenth century. When heated , the mixture becomes soft and malleable and can be formed by various techniques into a vast array of shapes and sizes. The homogeneous mass thus formed by melting then cools to create glass, but in contrast to most materials formed in this way (metals, for instance), glass lacks the crystalline structure normally associated with solids, and instead retains the random molecular structure of a liquid. In effect, as molten glass cools, it progressively stiffens until rigid, but does so without setting up a network of interlocking crystals customarily associated with that process. This is why glass shatters so easily when dealt a blow. Why glass deteriorates over time, especially when exposed to moisture, and why glassware must be slowly reheated and uniformly cooled after manufacture to release internal stresses Induced by uneven cooling.
Another unusual feature of glass is the manner in which its viscosity changes as it turns from a cold substance into a hot, ductile liquid. Unlike metals that flow or "freeze" at specific temperatures, glass progressively softens as the temperature rises, going through varying stages of malleability until it flows like a thick syrup. Each stage of malleability allows the glass to be manipulated into various forms, by different techniques, and if suddenly cooled the object retains the shape achieved at that point. Glass is thus amenable to a greater number of heatforming techniques than most other materials.
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Question 29: Why does the author list the characteristics of glass in lines 1-5?
A. To demonstrate how glass evolved
B. To show the versatility of glass
C. To explain glassmaking technology
D. To explain the purpose of each component of glass
Question 30: What does the author imply about the raw materials used to make glass?

A. They were the same for centuries. 
B. They are liquid

C. They are transparent 

D. They are very heavy
Question 31: According to the passage, how is glass that has cooled and become rigid different from ___ most other rigid substances?
A. It has an interlocking crystal network.
B. It has an unusually low melting temperature.
C. It has varying physical properties.
D. It has a random molecular structure.
Question 32: The word "customarily" is closest in meaning to __________

A. naturally 
B. necessarily 
C. usually 
D. certainly
Question 33: The words "exposed to" are closest in meaning to ___________

A. hardened by 
B. chilled with 
C. subjected to 
D. deprived of
Question 34: What must be done to release the internal stresses that build up in glass products during manufacture?
A. the glass must be reheated and evenly cooled.
B. the glass must be cooled quickly.
C. The glass must be kept moist until cooled.
D. The glass must be shaped to its desired form immediately
Question 35: The word "it" refers to ___________

A. feature 
B. glass 
C. manner 
D. viscosity
Question 36: According to the passage. why can glass be more easily shaped into specific forms than can metals _____________
A. It resists breaking when heated
B. It has better optical properties.
C. It retains heat while its viscosity changes.
D. It gradually becomes softer as its temperature rises.
Read the message and choose the best answer
Each advance in microscopic technique has provided scientists with new perspectives on the function of living organisms and the nature of matter itself. The invention of the visible-light microscope late in the sixteenth century introduced a previously unknown realm of single-celled plants and animals. In the twentieth century, electron microscopes have provided direct views of viruses and minuscule surface structures. Now another type of microscope, one that utilize x-rays rather than light or electrons, offers a different way of examining tiny details, it should extend human perception still farther into the natural world.
The dream of building an x-ray microscope dates to 1895, its development, however, was virtually halted in the 1940's because the development of the electron microscope was progressing rapidly. During the 1940's electron microscopes routinely achieved resolution better than that possible with a visible-light microscope, while the performance of x-ray microscopes resisted improvement. In recent years, however, interest in x-ray microscopes has revived, largely because of advances such as the development of new sources of x-ray
illumination. As a result, the brightness available today is millions of times that of x-ray tubes, which, for most of the century, were the only available sources of soft x-rays.
The new x-ray microscopes considerably improve on the resolution provided by optical microscopes. They can also be used to map the distribution of certain chemical elements. Some can form pictures in extremely short times, others hold the promise of special capabilities such as three dimensional imaging. Unlike conventional electron microscopy, x-ray microscopy enables specimens to be kept in air and in water, which means that biological samples can be studied under conditions similar to their natural state. The illumination used, so-called soft x-rays in the wavelength range of twenty to forty angstroms (an angstrom is one ten-billionth of a meter), is also sufficiently penetrating to image intact biological cells in many cases. Because of the wavelength of the xrays used, soft x-ray microscopes will never match the highest resolution possible with electron microscopes.
Rather, their special properties will make possible investigations that will complement those performed with light- and electron-based instruments
Question 37: What does the passage mainly discuss?
A. The detail seen through a microscope
B. Sources of illumination for microscopes
C. A new kind of microscope
D. Outdated microscopic technique
Question 38: According to the passage, the invention of the visible-light microscope allowed scientists to
_____
A. see viruses directly
B. develop the electron microscope later on
C. understand more about the distribution of the chemical elements
D. discover single celled plants and animals they had never seen before
Question 39: The word "minuscule" is closest in meaning to ____________

A. circular 
B. dangerous 
C. complex 
D. tiny
Question 40: The word "it" in line 7 refers to ___________

A. a type of microscope 

B. human perception

C. the natural world 

D. light
Question 41: Why does the another mention to visible light microscope in the first paragraph?
A. To begin a discussion of sixteenth century discoveries.
B. To put the x-ray microscope in historical perspective
C. To show how limited its uses are
D. To explain how it functioned
Question 42: Why did it take so long to develop the xray microscope?
A. Funds for research were insufficient.
B. The source of illumination was not bright enough until recently.
C. Materials used to manufacture x-ray tubes were difficult to obtain
D. X-ray microscopes were too complicated to operate.
Question 43: Based on the information in the passage, what can be inferred about x-ray microscopes in the future?
A. They will probably replace electron microscopes altogether.
B. They will eventually be much cheaper to produce than they are now.
C. They will provide information not available from other kinds of microscopes.
D. They will eventually change th illumination range that they now use.
Read the message and choose the best answer
The Association of Southeast Asian Nations (ASEAN) is the main political and economic organization for that area. The leaders summit is their last meeting before the launch of the ASEAN Economic Community, or AEC, on December 31.
The AEC will be equivalent to the world's seventh largest economy. It was set up to create a highly competitive single market and production area. Organizers hope it will ease the movement of capital, goods, investment, services and skilled labor across ASEAN countries. The goal is to make the whole area more competitive and economically successful. But, some business leaders have low expectations for the ASEAN summit. Anthony Nelson is a director at the US – ASEAN Business Council in Washington. He believes that security will be an important issue at the meetings, especially after the terrorist attacks in Paris last week.
“The November summit includes the East Asia Summit, which primarily focuses on political and security issues. So that's going to be a big part of what is actually going on around the summit. A lot of the work that business gets really involved in tends to happen around the ASEAN economic ministers' meeting in August."
But, the AEC may have only limited influence on business activity when it comes into being next year. Experts expect little to change at first because there is still much to be done.
"The ASEAN single window, which is a customs project, is still very much a work in progress. But beginning next year they will start limited trials with five of the 10 ASEAN countries. And there have been past mutual recognition agreements for credentials of skilled professionals. But there's still a lot of work to be done in terms of actually implementing those agreements.” Some critics say the AEC will mainly help businesses, not the majority of people in Southeast Asia. Earlier this year, the ASEAN
Civil Society Conference and ASEAN Peoples' Forum expressed concern about regional economic integration. In a statement, the group said such a move would mean unequal and unsustainable economic growth. This, it said, would result "in worsening poverty and inequalities of wealth." Jerald Joseph is co-chair of the ASEAN People's Forum. He says people crossing borders to find employment need more protections. He said: “Cross - border migrant workers don't have the same level of protection or interest in the whole negotiation. So that's a little bit of a pity, a wasted chance, if it's not reflected in the coming document.” The 27th ASEAN Summit includes the organization's partners. Nations including China, India, Japan and the United States are to attend.
Question 44: According to Anthony Nelson, what is the important issue at the meetings?

A. Security 
B. Climate change 
C. Business 
D. Economy
Question 45: According to the passage, what aspects tends to happen around the ASEAN economic ministers?

A. Security 
B. Climate change 
C. Business 
D. Economy
Question 46: According to the passage, how many countries in the ASEAN will start limited trials?

A. 3 
B. 5 
C. 7 
D. 10
Question 47: The word “implenmenting” is closet in meaning to ___________

A. carrying out 
B. producing 
C. concentrating 
D. focusing
Question 48: The word “integation” can be replaced by __________

A. utilization 
B. contribution 
C. combination 
D. separation
Question 49: According to the passage, what would delay the increase of the economy?

A. the recession 
B. the poverty 
C. the move 
D. the employment
Question 50: According to the passage, who require more assurance?

A. travellers 
B. immigrants 
C. residents 
D. tourists
Write a paragraph of 120-150 words on the following topics
Question 51: What are the advantages of living in the city?
------------- HẾT -------------
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HƯỚNG DẪN GIẢI CHI TIẾT

Question 1: Choose the word that has the underline part pronounced differently from the others


A. benefit 
B. invent 
C. precise 
D. adventure
Phương pháp giải:
Phát âm “e”

Giải chi tiết:
A. benefit  /ˈbenɪfɪt/

B. invent  /ɪnˈvent/

C. precise  /prɪˈsaɪs/

D. adventure  /ədˈventʃə(r)/

Phương án C có phần gạch chân đọc là /ɪ/, còn lại đọc là /e/

Question 2: Choose the word whose primary stress is different from the others


A. competitive 
B. unreachable 
C. geometric 
D. normality

Phương pháp giải:
Trọng âm từ 4 âm tiết

Giải chi tiết:
A. competitive  /kəmˈpetətɪv/

B. unreachable  /ˌʌnˈriːtʃ.ə.bəl/

C. geometric  /ˌdʒiːəˈmetrɪk/

D. normality /nɔːˈmæləti/

Phương án C có trọng âm rơi vào âm tiết thứ 3, còn lại rơi vào âm tiết 2

Question 3: Choose the word that has the underline part pronounced differently from the others


A. measure 
B. cause 
C. poison 
D. disaster

Phương pháp giải:
Phát âm “s”

Giải chi tiết:
A. measure  /ˈmeʒə(r)/

B. cause  /kɔːz/

C. poison  /ˈpɔɪzn/

D. disaster  /dɪˈzɑːstə(r)/

Phương án A có phần gạch chân đọc là /ʒ/, còn lại đọc là /z/

Question 4: The pilot was the only man _______ after the crash.


A. was rescued 
B. rescued 
C. rescuing 
D. to be rescued
Phương pháp giải:
Mệnh đề quan hệ rút gọn

Giải chi tiết:
Dùng dạng “to-V” ( rút gọn MĐQH dạng chủ động) hoặc “to be PII”  ( rút gọn MĐQH dạng bị động) sau các từ như: only, the first, the last…

Tạm dịch: Phi công là người duy nhất được cứu sau khi vụ va trạm

Question 5: Jollie ________come with us because she has broken her leg in an accident


A. mustn’t 
B. may not 
C. can’t 
D. All are correct

Phương pháp giải:
Động từ khuyết thiếu

Giải chi tiết:
Xét về nghĩa của câu, vì Jollie bị gẫy chân nên việc cô ấy không đi cùng là điều chắc chắn

=> dùng “can’t” để đưa ra dự đoán có căn cứ

Tạm dịch: Jollie không thể đi cùng chúng ta vì cô ấy vừa gãy chân trong một vụ tai nạn

Question 6: There are _____ many people in the room that I feel bored and would like to go home


A. such 
B. so 
C. enough 
D. too

Phương pháp giải:
Cấu trúc câu

Giải chi tiết:
A. S+  V + such + (a/an) + adj + N + that + S + V: quá…đến nỗi mà

B. S + V + so + (few/many/little/much)  + (adj) +  N + that + S + V: quá….đến nỗi mà

C. S + V + enough + N + (for sb) + to-V: đủ…để làm gì

D. S + V + too +  adv/adj + (for somebody) + to V: quá…để làm gì

Tạm dịch: Có quá nhiều người trong phòng đến nỗi mà tôi cảm thấy phát chán và muốn đi về nhà

Question 7: When Philip comes to the hospital tomorrow afternoon, the doctor _____ an important surgery for the Prime Minister


A. is conducting 
B. will conduct 
C. will be conducting 
D. has been conducting

Phương pháp giải:
Thì của động từ

Giải chi tiết:
Cấu trúc: When + S + V (present simple), S + V (future continuous)

=> diễn tả sự việc sẽ đang xảy ra tại một thời điểm xác định trong tương lai ( When Philp comes to…tomorrow afternoon)

Tạm dịch: Khi Philip tới bệnh viện vào ngày mai, các bác sĩ lúc đó sẽ đang thực hiện cuộc phẫu thuật quan trọng cho thủ tướng

Question 8: During the emergency, a lot of people volunteered _______ through the night


A. to working 
B. to work 
C. working 
D. being worked

Phương pháp giải:
Dạng của động từ

Giải chi tiết:
Volunteer to do sth: tình nguyện làm gì

Tạm dịch: Trong trường hợp khẩn cấp, rất nhiều người đã tình nguyện làm việc xuyên đêm

Question 9: ________ developments have changed the shape of industry


A. technology 
B. technological 
C. technocratic 
D. technologically

Phương pháp giải:
Từ loại

Giải chi tiết:
A. technology (n): công nghiệp

B. technological (adj) thuộc về công nghệ

C. technocratic (adv) (thuộc) chế độ kỹ trị

D. technologically (adv): có tính chất kỹ thuật, thuộc công nghệ học

Chỗ trống cần điền là tính từ theo cấu trúc: adj + N

Tạm dịch: Sự phát triển công nghệ đã thay đổi kết cấu công nghiệp

Question 10: You __________ use my dictionary if you want


A. must 
B. might 
C. may 
D. have to

Phương pháp giải:
Động từ khuyết thiếu

Giải chi tiết:
Dùng “may” để đưa ra lời đề nghị cho phép ai đó làm gì ( không dùng “might” với nghĩa này)

Tạm dịch: Bạn có thể sử dụng từ điển nếu bạn muốn

Question 11: Do you think there would be less conflict in the world if all people _____ the same language?


A. spoke 
B. speak 
C. had spoken 
D. will speak

Phương pháp giải:
Câu điều kiện

Giải chi tiết:
Cấu trúc câu điều kiện loại 2: If + S + V (past simple)

Tạm dịch: Bạn có nghĩ rằng thế giới sẽ ít xung đột hơn nếu như tất cả chúng ta nói chung một ngôn ngữ

Question 12: The host asked Peter _______ tea or coffee.


A. whether he preferred 
B. that he preferred 
C. did he prefer 
D. if he prefers

Phương pháp giải:
Câu gián tiếp

Giải chi tiết:
Cấu trúc câu gián tiếp với dạng câu hỏi Yes/No question

S + asked + if/whether + S + V

Tạm dịch: Chủ quán hỏi Peter thích trà hay cà phê hơn

Question 13: Survivors of the plane crash __________ to find food and shelter until the rescue team arrived


A. struggled 
B. had been struggled 
C. had struggled 
D. were struggled

Phương pháp giải:
Thi của động từ

Giải chi tiết:
S + V (past perfect) until/when S + V (past simple)

=> dùng để diễn tả 2 sự việc trong quá khứ, sự việc nào xảy ra trước chia thì quá khứ hoàn thành, sự việc xảy ra

Tạm dịch: Những người sống sót sau vụ tai nạn máy bay cố gắng xoay xở để tìm thức ăn và nơi trú ẩn cho đến khi đội cứu hộ đến

Question 14: Choose the best option A,B,C or D to complete the sentence

- “It was very kind of you to help me out, Paul

- “ ____________”


A. I’m glad you like it! 

B. Thanks a million


C. That was the least I could do 
D. You can say that again

Phương pháp giải:
Tình huống giao tiếp

Giải chi tiết:
A. I’m glad you like it! ( Dùng để đáp lại lời khen)

B. Thanks a million ( = Thank you very much: Đáp lại khi ai đó đã giúp mình)

C. That was the least I could do ( đáp lại lời cảm ơn)

D. You can say that again ( thể hiện sự đồng ý một quan điểm)
Question 15: Choose the best option A,B,C or D to complete the sentence

- What’s the matter with your son?

- “_____________”


A. He went to London two weeks ago 
B. He’s just graduated from university


C. He’s got a headache 

D. He did an experiment on a cure for the headache

Phương pháp giải:
Tình huống giao tiếp

Giải chi tiết:

What’s the matter…? Dùng để đưa ra lời hỏi thăm sức khỏe của ai đó

Tạm dịch:
Có chuyện gì với con trai bạn vậy?

A. Nó đã đến London hai tuần trước

B. Nó vừa tốt nghiệp đại học

C. Nó bị đau đầu

D. Nó đã làm một thí nghiệm về cách chữa đau đầu

Question 16: Choose the best option A,B,C or D to complete the sentence

Customer: “ _______”

Salesman: “ It’s over there, next to the tea and coffee”

A. I’m sorry. I didn’t buy the tea and coffee

B. Can you help me? I can’t carry the tea and coffee?

C. How much is a kilo of tea and coffee?

D. Excuse me, where’s the tea and coffee?
Phương pháp giải:
Tình huống giao tiếp

Giải chi tiết:
Next to, over there là các từ chỉ vị trí => câu hỏi ở dạng “where…”

Tạm dịch:
Khách hàng: " _______"

Người bán hàng: "Nó ở đằng kia, bên cạnh trà và cà phê"

A. Tôi xin lỗi. Tôi đã không mua trà và cà phê

B. Bạn có thể giúp tôi được không? Tôi không thể mang trà và cà phê?

C. Bao nhiêu một ki-lô-gam chè và cà phê?

D. Xin lỗi, trà và cà phê ở đâu?

Question 17: Choose the best option A,B,C or D to complete the sentence

- Why don’t you come over and see the new film with me?

- “ ___________. I’m free now”


A. I’m afraid not 

B. Great. I’d love to

C. Sure. Please do 

D. Wow! I didn’t realize that

Phương pháp giải:
Tình huống giao tiếp

Giải chi tiết:
A. I’m afraid not ( đưa ra lời từ chối lịch sự vì không muốn gây mất lòng, thất vọng cho ai đó)

B. Great. I’d love to ( đáp lại lời mời của ai đó)

C. Sure. Please do ( yêu cầu ai đó một cách lịch sự để làm theo ý mình)

D. Wow! I didn’t realize that ( thể hiện sự ngạc nhiên)

Tạm dịch: Bạn có muốn qua nhà tôi và cùng xem bộ phim mới ra cùng tôi không? - Ồ, được đó, mình đang rảnh

Question 18: Choose the best option A,B,C or D to complete the sentence

- Do you like that advanced course you’re taking, John?

- “ _____________”


A. No, thanks 

B. By and large, yes

C. Not me. I’m still watching 
D. No, not everyone

Phương pháp giải:
Tình huống giao tiếp

Giải chi tiết:
A. No, thanks ( đáp lại lời mời)

B. By and large, yes ( nhưng nhìn chung, tựu chung lại)

C. Not me. I’m still watching ( Không liên quan đến ngữ cảnh)

D. No, not everyone ( không liên quan đến ngữ cảnh)

Question 19: To Vietnamese students, the ______________examination to university is very difficult


A. require 
B. requirement 
C. requisite 
D. required
Phương pháp giải:
Từ loại

Giải chi tiết:
A.  require (v) yêu cầu

B. requirement (n) sự yêu cầu

C. requisite (adj): thiết yếu

D. required (adj): bắt buộc, được yêu cầu

Chỗ trống cần điền là một tính từ đi theo cụm: required examination: kì thi bắt buộc

Tạm dịch: Đối với học sinh Việt Nam, kì thi bắt buộc để thi vào đại học rất khó

Question 20: The company’s board of directors announces to award prizes to the employees who can ___good solution


A. come up with 
B. catch up with 
C. go through with 
D. live up to

Phương pháp giải:
Cụm động từ

Giải chi tiết:
A. come up with : đề xuất

B. catch up with: xảy đến với ai

C. go through with: vượt qua

D. live up to: sống vì ai, vì cái gì

Tạm dịch: Ban giám đốc của công ty thông báo trao giải thưởng cho những nhân viên có thể đưa ra giải pháp tốt

Question 21: A large part of what we ________ to each other is nonverbal


A. reveal 
B. inform 
C. communicate 
D. suggest

Phương pháp giải:
Tư vựng

Giải chi tiết:
A. reveal sth to sb: tiết lội cái gì cho ai

B. inform sth: thông báo cái gì

C. communicate (sth) to sb: giao tiếp, trao đổi cái gì với ai

D. suggest + Ving: đề xuất việc gì

Tạm dịch: Một phần lớn những gì chúng ta giao tiếp với nhau là phi ngôn ngữ

Question 22: They threatened _______ from the team if he didn’t come to practice


A. to drop 
B. dropping 
C. to dropping 
D. Both A & B are correct

Phương pháp giải:
Dạng của động từ

Giải chi tiết:
threaten to do something: đe dọa làm gì

Tạm dịch: Họ đe dọa loại khỏi đội nếu anh ta không đến tập luyện

Question 23: Neil Armstrong and Buzz Aldrin planted an American flag on the lunar surface as a(n) ___ of their adventure on the Moon


A. remnant 
B. image 
C. shadow 
D. trace
Phương pháp giải:
Từ vựng

Giải chi tiết:
A. remnant (n): tàn dư còn sót lại

B. image (n) hình ảnh

C. shadow (n) cái bóng

D. trace (n) dấu vết, đánh dấu

Tạm dịch: Neil Armstrong và Buzz Aldrin đã cắm một lá cờ Mỹ trên bề mặt mặt trăng như một sự đánh dấu về cuộc phiêu lưu của họ trên Mặt trăng

Question 24:


- I think the main problem in this area is the lack of a good bus service

- You’re right. You’ve hit the ___________ on the head


A. nail 
B. wall 
C. lips 
D. hand

Phương pháp giải:
Thành ngữ

Giải chi tiết:
hit the nail on the head = “to do or say something that is exactly right ( dùng để đưa ra sự đồng tình về quan điểm của ai đó

Tạm dịch:
- Tôi nghĩ vấn đề chính trong lĩnh vực này là thiếu dịch vụ xe buýt tốt

- Phải rồi. Bạn nói hoàn toàn chính xác
Question 25: Although they are twin, they have almost the same appearance but they are seldom in ____


A. agree 
B. agreeable 
C. agreement 
D. agreeably

Phương pháp giải:
Từ loại, sự kết hợp từ

Giải chi tiết:
Be in agreement: hòa thuận

A. agree: đồng ý, đồng tình

B. agreeable: dễ chịu, dễ tính; sẵn sàng làm gì/cho phép làm gì

D. agreeably (adv): theo hướng dễ chịu

Tạm dịch: Dù là sinh đôi, có ngoại hình gần như giống nhau nhưng họ hiếm khi hòa thuận

Question 26: The more ________ and positive you look, the better you will feel


A. confide 
B. confident 
C. confidently 
D. confidence

Phương pháp giải:
Cấu trúc so sánh kép

Giải chi tiết:
The + so sánh hơn + adj/adv + S + be/V, the + so sánh hơn + adj/adv + S + be/V

Sau linking verbs ( seem, look, become, appear….) là tính từ => loại A,C,D

A. confide (v) bộc bạch

B. confident (adj) tự tin

C. confidently (adv): một cách tự tin

D. confidence (n) sự tự tin

Tạm dịch: Bạn càng tự tin và tích cực, bạn càng cảm thấy vui vẻ hơn

Question 27: Indicate the words or phrases that are CLOSET in meaning to the underlined words in each of the following sentences

Jose had a hard time comparing the iPhone to the Samsung phone because to him they were apples and oranges.

A. containing too many technical details 
B. very similar


C. completely different 

D. very complicated

Phương pháp giải:
Từ vựng

Giải chi tiết:
Táo và cam tuy cùng là trái cây nhưng lại khác nhau về chủng loại. Vì thế, người Mỹ dùng apples and oranges để chỉ hai việc hoàn toàn khác nhau và không nên so sánh với nhau

Tạm dịch: Jose đã gặp khó khăn khi so sánh iPhone với điện thoại Samsung vì đối với anh chúng chỉ là táo và cam.
Bản word từ Tailieuchuan.vn
Question 28: Indicate the words or phrases that are CLOSET in meaning to the underlined words in each of the following sentences ( ngữ cảnh về tiểu sử - đáp án dạng giải thích từ đó)

That the genetic differences make on race superior to another is nothing but a tall story


A. cynical 
B. unbelievable 
C. untrue 
D. exaggeration

Phương pháp giải:
Từ vựng

Giải chi tiết:
a tall story: khó tin, khó hiểu ( a story or fact that is difficult to believe)

A. cynical (adj) hoài nghi

B. unbelievable (adj): khó tin, khó chấp nhận được ( ​very difficult to believe and unlikely to be true) 

C. untrue (adj): sai sự thật

D. exaggeration (n) sự phóng đại

Tạm dịch: Rằng sự khác biệt về gen tạo ra sự phân biệt cao thấp giữa các chủng tộc là điều khó chấp nhận được

Read the message and choose the best answer

Glass is a remarkable substance made from the simplest raw materials. It can be colored or colorless, monochrome or polychrome, transparent, translucent, or opaque. It is lightweight impermeable to liquids, readily cleaned and reused , durable yet fragile, and often very beautiful. Glass can be decorated in multiple ways and its optical properties are exceptional. In all its myriad forms – as table ware, containers, in architecture and design – glass represents a major achievement in the history of technological developments.

Since the Bronze Age about 3,000 B.C., glass has been used for making various kinds of objects. It was first made from a mixture of silica, line and an alkali such as soda or potash, and these remained the basic ingredients of glass until the development of lead glass in the seventeenth century. When heated , the mixture becomes soft and malleable and can be formed by various techniques into a vast array of shapes and sizes. The homogeneous mass thus formed by melting then cools to create glass, but in contrast to most materials formed in this way (metals, for instance), glass lacks the crystalline structure normally associated with solids, and instead retains the random molecular structure of a liquid. In effect, as molten glass cools, it progressively stiffens until rigid, but does so without setting up a network of interlocking crystals customarily associated with that process. This is why glass shatters so easily when dealt a blow. Why glass deteriorates over time, especially when exposed to moisture, and why glassware must be slowly reheated and uniformly cooled after manufacture to release internal stresses Induced by uneven cooling.

Another unusual feature of glass is the manner in which its viscosity changes as it turns from a cold substance into a hot, ductile liquid. Unlike metals that flow or "freeze" at specific temperatures, glass progressively softens as the temperature rises, going through varying stages of malleability until it flows like a thick syrup. Each stage of malleability allows the glass to be manipulated into various forms, by different techniques, and if suddenly cooled the object retains the shape achieved at that point. Glass is thus amenable to a greater number of heatforming techniques than most other materials.

Question 29: Why does the author list the characteristics of glass in lines 1-5?

A. To demonstrate how glass evolved

B. To show the versatility of glass
C. To explain glassmaking technology

D. To explain the purpose of each component of glass

Phương pháp giải:
Đọc hiểu suy luận

Giải chi tiết:
Tại sao tác giả lại liệt kê các đặc điểm của thủy tinh ở dòng 1-5?

A. Để chứng minh thủy tinh đã phát triển như thế nào

B. Để thể hiện tính linh hoạt của thủy tinh

C. Để giải thích công nghệ sản xuất thủy tinh

D. Để giải thích mục đích của từng thành phần của thủy tinh

Question 30: What does the author imply about the raw materials used to make glass?


A. They were the same for centuries. 
B. They are liquid


C. They are transparent 

D. They are very heavy

Phương pháp giải:
Đọc hiểu suy luận

Giải chi tiết:
Tác giả ám chỉ điều gì về những nguyên liệu thô được sử dụng để làm thủy tinh?

A. Chúng giống nhau trong nhiều thế kỷ.

B. Chúng là chất lỏng

C. Chúng trong suốt

D. Chúng rất nặng

Thông tin: Glass is a remarkable substance made from the simplest raw materials. It can be colored or colorless, monochrome or polychrome, transparent, translucent, or opaque. It is lightweight impermeable to liquids, readily cleaned and reused , durable yet fragile, and often very beautiful.

Tạm dịch: Thủy tinh là một chất đáng chú ý được làm từ những nguyên liệu thô đơn giản nhất. Nó có thể có màu hoặc không màu, đơn sắc hoặc đa sắc, trong suốt, mờ hoặc mờ đục. Nó nhẹ, không thấm chất lỏng, dễ dàng làm sạch và tái sử dụng, bền nhưng dễ vỡ và thường rất đẹp

Question 31: According to the passage, how is glass that has cooled and become rigid different from ___ most other rigid substances?

A. It has an interlocking crystal network.

B. It has an unusually low melting temperature.

C. It has varying physical properties.

D. It has a random molecular structure.

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Theo đoạn văn, thủy tinh đã nguội và trở nên cứng khác với ___ hầu hết các chất cứng khác?

A. Nó có một mạng lưới tinh thể lồng vào nhau.

B. Nó có nhiệt độ nóng chảy thấp bất thường.

C. Nó có các tính chất vật lý khác nhau.

D. Nó có cấu trúc phân tử ngẫu nhiên

Thông tin: The homogeneous mass thus formed by melting then cools to create glass, but in contrast to most materials formed in this way (metals, for instance), glass lacks the crystalline structure normally associated with solids, and instead retains the random molecular structure of a liquid. In effect, as molten glass cools, it progressively stiffens until rigid, but does so without setting up a network of interlocking crystals customarily associated with that process.

Tạm dịch:
Do đó, khối đồng nhất được hình thành bằng cách nấu chảy sau đó nguội đi để tạo ra thủy tinh, nhưng trái ngược với hầu hết các vật liệu được hình thành theo cách này (ví dụ như kim loại), thủy tinh thiếu cấu trúc tinh thể thường liên kết với chất rắn, và thay vào đó vẫn giữ cấu trúc phân tử ngẫu nhiên của chất lỏng. . Trên thực tế, khi thủy tinh nóng chảy nguội đi, nó dần dần cứng lại cho đến khi cứng lại, nhưng làm như vậy mà không thiết lập một mạng lưới các tinh thể lồng vào nhau liên quan đến quá trình đó.

Question 32: The word "customarily" is closest in meaning to __________


A. naturally 
B. necessarily 
C. usually 
D. certainly

Phương pháp giải:
Từ vựng

Giải chi tiết:
Từ  "customarily" (như thường lệ) gần nghĩa nhất với ________

A. naturally (adv): một cách tự nhiên

B. necessarily (adv): một cách cần thiết

C. usually (adv): thường thường

D. certainly (adv) một cách chắc chắn

Question 33: The words "exposed to" are closest in meaning to ___________


A. hardened by 
B. chilled with 
C. subjected to 
D. deprived of

Phương pháp giải:
Từ vựng

Giải chi tiết:
A. hardened by: được làm cứng bởi

B. chilled with: được ướp lạnh

C. subjected to: liên quan tới

D. deprived of: tước bỏ

Thông tin: Why glass deteriorates over time, especially when exposed to moisture, and why glassware must be slowly reheated and uniformly cooled after manufacture to release internal stresses Induced by uneven cooling.

Tạm dịch:
Tại sao thủy tinh lại hư hỏng theo thời gian, đặc biệt là khi tiếp xúc với hơi ẩm, và tại sao dụng cụ thủy tinh phải được hâm nóng từ từ và làm nguội đồng đều sau khi sản xuất để giải phóng ứng suất bên trong do làm lạnh không đều.

Question 34: What must be done to release the internal stresses that build up in glass products during manufacture?

A. the glass must be reheated and evenly cooled.
B. the glass must be cooled quickly.

C. The glass must be kept moist until cooled.

D. The glass must be shaped to its desired form immediately

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Phải làm gì để giải phóng ứng suất bên trong tích tụ trong các sản phẩm thủy tinh trong quá trình sản xuất?

A. thủy tinh phải được làm nóng và làm nguội đều.

B. thủy tinh phải được làm nguội nhanh chóng.

C. thủy tinh phải được giữ ẩm cho đến khi nguội.

D. thủy tinh phải được định hình thành hình dạng mong muốn ngay lập tức

Thông tin: Another unusual feature of glass is the manner in which its viscosity changes as it turns from a cold substance into a hot, ductile liquid. Unlike metals that flow or "freeze" at specific temperatures, glass progressively softens as the temperature rises, going through varying stages of malleability until it flows like a thick syrup.

Tạm dịch: Một đặc điểm bất thường khác của thủy tinh là cách thức mà độ nhớt của nó thay đổi khi nó chuyển từ chất lạnh thành chất lỏng nóng, dễ uốn. Không giống như kim loại chảy hoặc "đông cứng" ở nhiệt độ cụ thể, thủy tinh dần dần mềm đi khi nhiệt độ tăng lên, trải qua các giai đoạn dễ uốn khác nhau cho đến khi nó chảy như xi-rô đặc.

Question 35: The word "it" refers to ___________


A. feature 
B. glass 
C. manner 
D. viscosity

Phương pháp giải:
Đại từ

Giải chi tiết:
Từ “it” thay thế cho _______

A. feature: đặc điểm

B. glass: thủy tinh

C. manner: cách thức

D. viscosity: độ nhớt

Thông tin: Another unusual feature of glass is the manner in which its viscosity changes as it turns from a cold substance into a hot, ductile liquid.

Tạm dịch: Một đặc điểm bất thường khác của thủy tinh là cách thức mà độ nhớt của nó thay đổi khi nó chuyển từ chất lạnh thành chất lỏng nóng, dễ uốn

Question 36: According to the passage. why can glass be more easily shaped into specific forms than can metals _____________

A. It resists breaking when heated

B. It has better optical properties.

C. It retains heat while its viscosity changes.

D. It gradually becomes softer as its temperature rises.
Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Theo đoạn văn. tại sao thủy tinh có thể dễ dàng định hình thành các dạng cụ thể hơn kim loại vì _________

A. Nó chống vỡ khi bị nung nóng

B. Nó có tính chất quang học tốt hơn.

C. Nó giữ nhiệt trong khi độ nhớt của nó thay đổi.

D. Nó dần trở nên mềm hơn khi nhiệt độ của nó tăng lên.

Thông tin: Không giống như kim loại chảy hoặc "đông cứng" ở nhiệt độ cụ thể, thủy tinh dần dần mềm đi khi nhiệt độ tăng lên, trải qua các giai đoạn dễ uốn khác nhau cho đến khi nó chảy như đặc biệt xi-rô. Mỗi giai đoạn dễ uốn cho phép thủy tinh được chế tạo thành nhiều dạng khác nhau, bằng các kỹ thuật khác nhau, và nếu được làm gián đoạn, vật thể vẫn được giữ nguyên dạng đạt được tại điểm đó.

Tạm dịch: Không giống như kim loại chảy hoặc "đông cứng" ở nhiệt độ cụ thể, thủy tinh dần dần mềm đi khi nhiệt độ tăng lên, trải qua các giai đoạn dễ uốn khác nhau cho đến khi nó chảy như xi-rô đặc. Mỗi giai đoạn dễ uốn cho phép thủy tinh được chế tác thành nhiều dạng khác nhau, bằng các kỹ thuật khác nhau, và nếu được làm lạnh đột ngột, vật thể vẫn giữ được hình dạng đạt được tại thời điểm đó.

Chú ý khi giải:
Nội dung dịch:
Thủy tinh là một chất đáng chú ý được làm từ những nguyên liệu thô đơn giản nhất. Nó có thể có màu hoặc không màu, đơn sắc hoặc đa sắc, trong suốt, mờ hoặc mờ đục. Nó nhẹ, không thấm chất lỏng, dễ dàng làm sạch và tái sử dụng, bền nhưng dễ vỡ và thường rất đẹp. Thủy tinh có thể được trang trí theo nhiều cách và đặc tính quang học của nó rất đặc biệt. Trong vô số hình thức của nó - như đồ dùng để bàn, hộp đựng, trong kiến trúc và thiết kế - thủy tinh đại diện cho một thành tựu quan trọng trong lịch sử phát triển công nghệ.

Kể từ thời kỳ đồ đồng khoảng 3.000 năm trước Công nguyên,  thủy tinh đã được sử dụng để làm nhiều loại đồ vật khác nhau. Đầu tiên nó được làm từ hỗn hợp silica, đường và một chất kiềm như soda hoặc bồ tạt, và những thành phần này vẫn là thành phần cơ bản của thủy tinh cho đến khi thủy tinh chì phát triển vào thế kỷ XVII. Khi đun nóng, hỗn hợp trở nên mềm và dễ uốn và có thể được tạo thành bằng nhiều kỹ thuật khác nhau thành một loạt các hình dạng và kích thước. Do đó, khối đồng nhất được hình thành bằng cách nấu chảy sau đó nguội đi để tạo ra thủy tinh, nhưng trái ngược với hầu hết các vật liệu được hình thành theo cách này (ví dụ như kim loại), thủy tinh thiếu cấu trúc tinh thể thường liên kết với chất rắn, và thay vào đó vẫn giữ cấu trúc phân tử ngẫu nhiên của chất lỏng. . Trên thực tế, khi thủy tinh nóng chảy nguội đi, nó dần dần cứng lại cho đến khi cứng, nhưng làm như vậy mà không thiết lập một mạng lưới các tinh thể lồng vào nhau liên quan đến quá trình đó. Đây là lý do tại sao thủy tinh rất dễ vỡ khi bị giáng một đòn. Tại sao thủy tinh lại xuống cấp theo thời gian, đặc biệt là khi tiếp xúc với hơi ẩm, và tại sao dụng cụ thủy tinh phải được hâm nóng từ từ và làm nguội đồng đều sau khi sản xuất để giải phóng ứng suất bên trong do làm lạnh không đều.

Một đặc điểm đặc biệt khác của thủy tinh là cách thức mà độ nhớt của nó thay đổi khi nó chuyển từ chất lạnh thành chất lỏng nóng, dễ uốn. Không giống như kim loại chảy hoặc "đông cứng" ở nhiệt độ cụ thể, thủy tinh dần dần mềm đi khi nhiệt độ tăng lên, trải qua các giai đoạn dễ uốn khác nhau cho đến khi nó chảy như xi-rô đặc. Mỗi giai đoạn dễ uốn cho phép thủy tinh được chế tác thành nhiều dạng khác nhau, bằng các kỹ thuật khác nhau, và nếu được làm lạnh đột ngột, vật thể vẫn giữ được hình dạng đạt được tại thời điểm đó. Vì vậy, thủy tinh có thể phù hợp với nhiều kỹ thuật tạo nhiệt hơn hầu hết các vật liệu khác.
Read the message and choose the best answer

Each advance in microscopic technique has provided scientists with new perspectives on the function of living organisms and the nature of matter itself. The invention of the visible-light microscope late in the sixteenth century introduced a previously unknown realm of single-celled plants and animals. In the twentieth century, electron microscopes have provided direct views of viruses and minuscule surface structures. Now another type of microscope, one that utilize x-rays rather than light or electrons, offers a different way of examining tiny details, it should extend human perception still farther into the natural world.

The dream of building an x-ray microscope dates to 1895, its development, however, was virtually halted in the 1940's because the development of the electron microscope was progressing rapidly. During the 1940's electron microscopes routinely achieved resolution better than that possible with a visible-light microscope, while the performance of x-ray microscopes resisted improvement. In recent years, however, interest in x-ray microscopes has revived, largely because of advances such as the development of new sources of x-ray

illumination. As a result, the brightness available today is millions of times that of x-ray tubes, which, for most of the century, were the only available sources of soft x-rays.

The new x-ray microscopes considerably improve on the resolution provided by optical microscopes. They can also be used to map the distribution of certain chemical elements. Some can form pictures in extremely short times, others hold the promise of special capabilities such as three dimensional imaging. Unlike conventional electron microscopy, x-ray microscopy enables specimens to be kept in air and in water, which means that biological samples can be studied under conditions similar to their natural state. The illumination used, so-called soft x-rays in the wavelength range of twenty to forty angstroms (an angstrom is one ten-billionth of a meter), is also sufficiently penetrating to image intact biological cells in many cases. Because of the wavelength of the xrays used, soft x-ray microscopes will never match the highest resolution possible with electron microscopes.

Rather, their special properties will make possible investigations that will complement those performed with light- and electron-based instruments
Question 37: What does the passage mainly discuss?

A. The detail seen through a microscope

B. Sources of illumination for microscopes

C. A new kind of microscope
D. Outdated microscopic technique

Phương pháp giải:
Đọc hiểu ý chính

Giải chi tiết:
Đoạn văn chủ yếu thảo luận là gì?

A. Chi tiết nhìn thấy qua kính hiển vi

B. Nguồn phát sáng cho kính hiển vi

C. Một loại kính hiển vi mới

D. Kỹ thuật hiển vi lạc hậu

Question 38: According to the passage, the invention of the visible-light microscope allowed scientists to

_____

A. see viruses directly

B. develop the electron microscope later on

C. understand more about the distribution of the chemical elements

D. discover single celled plants and animals they had never seen before
Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Theo đoạn văn, việc phát minh ra kính hiển vi ánh sáng nhìn thấy cho phép các nhà khoa học _____

A. xem vi rút trực tiếp

B. phát triển kính hiển vi điện tử sau này

C. hiểu thêm về sự phân bố của các nguyên tố hóa học

D. khám phá ra những loài thực vật và động vật đơn bào mà họ chưa từng thấy trước đây

Thông tin: The invention of the visible-light microscope late in the sixteenth century introduced a previously unknown realm of single-celled plants and animals

Tạm dịch: Việc phát minh ra kính hiển vi ánh sáng nhìn thấy vào cuối thế kỷ XVI đã giới thiệu một thế giới thực vật và động vật đơn bào chưa từng được biết đến trước đây

Question 39: The word "minuscule" is closest in meaning to ____________


A. circular 
B. dangerous 
C. complex 
D. tiny
Phương pháp giải:
Từ vựng

Giải chi tiết:
The word "minuscule" in line 5 is closest in meaning to ____________

A. circular: vòng tròn

B. dangerous: sự nguy hiểm

C. complex: khối, sự phức tạp

D. tiny:  cực nhỏ

Thông tin: In the twentieth century, electron microscopes have provided direct views of viruses and minuscule surface structures.

Tạm dịch: Trong thế kỷ 20, kính hiển vi điện tử đã cung cấp những cái nhìn trực tiếp về virus và các cấu trúc bề mặt cực nhỏ.

Question 40: The word "it" in line 7 refers to ___________


A. a type of microscope 

B. human perception


C. the natural world 

D. light

Phương pháp giải:
Đại từ

Giải chi tiết:
The word "it" in line 7 refers to ___________

A. a type of microscope

B. human perception

C.  the natural world

D. light

Thông tin: Now another type of microscope, one that utilize x-rays rather than light or electrons, offers a different way of examining tiny details, it should extend human perception still farther into the natural 

Tạm dịch: Giờ đây, một loại kính hiển vi khác, sử dụng tia X thay vì ánh sáng hoặc electron, cung cấp một cách khác để kiểm tra các chi tiết nhỏ, nó sẽ mở rộng nhận thức của con người về thế giới tự nhiên.

Question 41: Why does the another mention to visible light microscope in the first paragraph?

A. To begin a discussion of sixteenth century discoveries.

B. To put the x-ray microscope in historical perspective
C. To show how limited its uses are

D. To explain how it functioned

Phương pháp giải:
Đọc hiểu suy luận

Giải chi tiết:
Tại sao người khác đề cập đến tới kính hiển vi ánh sáng nhìn thấy trong đoạn đầu tiên?

A. Để bắt đầu một cuộc thảo luận về những khám phá thế kỷ mười sáu.

B. Đặt kính hiển vi tia X trong quan điểm lịch sử

C. Để cho thấy việc sử dụng nó bị hạn chế như thế nào

D. Để giải thích cách nó hoạt động

Question 42: Why did it take so long to develop the xray microscope?

A. Funds for research were insufficient.

B. The source of illumination was not bright enough until recently.
C. Materials used to manufacture x-ray tubes were difficult to obtain

D. X-ray microscopes were too complicated to operate.

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Tại sao lại mất nhiều thời gian để phát triển kính hiển vi xray?

A. Kinh phí cho nghiên cứu không đủ.

B. Nguồn chiếu sáng không đủ sáng tính đến thời điểm hiện tại

C. Vật liệu được sử dụng để sản xuất ống tia X rất khó kiếm được

D. Kính hiển vi tia X hoạt động quá phức tạp.

Thông tin:
The dream of building an x-ray microscope dates to 1895, its development, however, was virtually halted in the 1940's because the development of the electron microscope was progressing rapidly.

In recent years, however, interest in x-ray microscopes has revived, largely because of advances such as the development of new sources of x-ray illumination.

Tạm dịch:
Giấc mơ chế tạo kính hiển vi tia X có từ năm 1895, tuy nhiên, sự phát triển của nó hầu như bị dừng lại vào những năm 1940 vì sự phát triển của kính hiển vi điện tử đang tiến triển nhanh chóng.

Tuy nhiên, trong những năm gần đây, sự quan tâm đến kính hiển vi tia X đã hồi sinh, phần lớn là do những tiến bộ như sự phát triển của các nguồn chiếu sáng tia X mới.

Question 43: Based on the information in the passage, what can be inferred about x-ray microscopes in the future?

A. They will probably replace electron microscopes altogether.

B. They will eventually be much cheaper to produce than they are now.

C. They will provide information not available from other kinds of microscopes.
D. They will eventually change th illumination range that they now use.

Phương pháp giải:
Đọc hiểu suy luận

Giải chi tiết:
Dựa vào thông tin trong đoạn văn, có thể suy ra điều gì về kính hiển vi tia X trong tương lai?

A. Chúng có thể sẽ thay thế hoàn toàn kính hiển vi điện tử.

B. Cuối cùng chúng sẽ được sản xuất rẻ hơn nhiều so với hiện tại.

C. Chúng sẽ cung cấp thông tin không có sẵn từ các loại kính hiển vi khác.

D. Cuối cùng chúng sẽ thay đổi phạm vi chiếu sáng mà chúng đang sử dụng.

Thông tin:
The new x-ray microscopes considerably improve on the resolution provided by optical microscopes. Because of the wavelength of the x-rays used, soft x-ray microscopes will never match the highest resolution possible with electron microscopes. Rather, their special properties will make possible investigations that will complement those performed with light- and electron-based instruments

Tạm dịch:
Các kính hiển vi tia X mới cải thiện đáng kể về độ phân giải được cung cấp bởi kính hiển vi quang học. Do bước sóng của tia X được sử dụng, kính hiển vi tia X mềm sẽ không bao giờ phù hợp với độ phân giải cao nhất có thể với kính hiển vi điện tử. Thay vào đó, các tính chất đặc biệt của chúng sẽ giúp thực hiện các cuộc điều tra khả thi, bổ sung cho những nghiên cứu được thực hiện bằng các dụng cụ dựa trên ánh sáng và điện tử
Chú ý khi giải:
Nội dung dịch:
Mỗi tiến bộ trong kỹ thuật hiển vi đã cung cấp cho các nhà khoa học những quan điểm mới về chức năng của các cơ thể sống và bản chất của chính vật chất. Việc phát minh ra kính hiển vi ánh sáng nhìn thấy vào cuối thế kỷ XVI đã giới thiệu một lĩnh vực thực vật và động vật đơn bào chưa từng được biết đến trước đây. Trong thế kỷ 20, kính hiển vi điện tử đã cung cấp những cái nhìn trực tiếp về virus và các cấu trúc bề mặt cực nhỏ. Giờ đây, một loại kính hiển vi khác, sử dụng tia X thay vì ánh sáng hoặc electron, cung cấp một cách khác để kiểm tra các chi tiết nhỏ, nó sẽ mở rộng nhận thức của con người về thế giới tự nhiên.

Giấc mơ chế tạo kính hiển vi tia X có từ năm 1895, tuy nhiên, sự phát triển của nó hầu như bị dừng lại vào những năm 1940 vì sự phát triển của kính hiển vi điện tử đang tiến triển nhanh chóng. Trong suốt những năm 1940, kính hiển vi điện tử thường xuyên đạt được độ phân giải tốt hơn mức có thể với kính hiển vi ánh sáng nhìn thấy, trong khi hiệu suất của kính hiển vi tia X không được cải thiện. Tuy nhiên, trong những năm gần đây, sự quan tâm đến kính hiển vi tia X đã hồi sinh, phần lớn là do những tiến bộ như sự phát triển của các nguồn chiếu sáng tia X mới. Kết quả là, độ sáng hiện có ngày nay gấp hàng triệu lần độ sáng của các ống tia X, mà trong hầu hết thế kỷ, là nguồn tia X mềm duy nhất sẵn có.

Các kính hiển vi tia X mới cải thiện đáng kể về độ phân giải được cung cấp bởi kính hiển vi quang học. Chúng cũng có thể được sử dụng để lập bản đồ phân bố của một số nguyên tố hóa học. Một số có thể tạo thành hình ảnh trong thời gian cực ngắn, số khác hứa hẹn về các khả năng đặc biệt như hình ảnh ba chiều. Không giống như kính hiển vi điện tử thông thường, kính hiển vi tia X cho phép các mẫu vật được giữ trong không khí và trong nước, có nghĩa là các mẫu sinh học có thể được nghiên cứu trong các điều kiện tương tự như trạng thái tự nhiên của chúng. Ánh sáng được sử dụng, được gọi là tia X mềm trong dải bước sóng từ 20 đến bốn mươi angstrom (angstrom là một phần mười tỷ mét), là

cũng đủ thâm nhập để hình ảnh các tế bào sinh học còn nguyên vẹn trong nhiều trường hợp. Do bước sóng của tia X được sử dụng, kính hiển vi tia X mềm sẽ không bao giờ phù hợp với độ phân giải cao nhất có thể với kính hiển vi điện tử. Thay vào đó, các tính chất đặc biệt của chúng sẽ giúp thực hiện các nghiên cứu khả thi, bổ sung cho những nghiên cứu được thực hiện bằng các dụng cụ dựa trên ánh sáng và điện tử

Read the message and choose the best answer
The Association of Southeast Asian Nations (ASEAN) is the main political and economic organization for that area. The leaders summit is their last meeting before the launch of the ASEAN Economic Community, or AEC, on December 31.

The AEC will be equivalent to the world's seventh largest economy. It was set up to create a highly competitive single market and production area. Organizers hope it will ease the movement of capital, goods, investment, services and skilled labor across ASEAN countries. The goal is to make the whole area more competitive and economically successful. But, some business leaders have low expectations for the ASEAN summit. Anthony Nelson is a director at the US – ASEAN Business Council in Washington. He believes that security will be an important issue at the meetings, especially after the terrorist attacks in Paris last week.

“The November summit includes the East Asia Summit, which primarily focuses on political and security issues. So that's going to be a big part of what is actually going on around the summit. A lot of the work that business gets really involved in tends to happen around the ASEAN economic ministers' meeting in August."

But, the AEC may have only limited influence on business activity when it comes into being next year. Experts expect little to change at first because there is still much to be done.

"The ASEAN single window, which is a customs project, is still very much a work in progress. But beginning next year they will start limited trials with five of the 10 ASEAN countries. And there have been past mutual recognition agreements for credentials of skilled professionals. But there's still a lot of work to be done in terms of actually implementing those agreements.” Some critics say the AEC will mainly help businesses, not the majority of people in Southeast Asia. Earlier this year, the ASEAN

Civil Society Conference and ASEAN Peoples' Forum expressed concern about regional economic integration. In a statement, the group said such a move would mean unequal and unsustainable economic growth. This, it said, would result "in worsening poverty and inequalities of wealth." Jerald Joseph is co-chair of the ASEAN People's Forum. He says people crossing borders to find employment need more protections. He said: “Cross - border migrant workers don't have the same level of protection or interest in the whole negotiation. So that's a little bit of a pity, a wasted chance, if it's not reflected in the coming document.” The 27th ASEAN Summit includes the organization's partners. Nations including China, India, Japan and the United States are to attend.

Question 44: According to Anthony Nelson, what is the important issue at the meetings?


A. Security 
B. Climate change 
C. Business 
D. Economy

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Theo Anthony Nelson, vấn đề quan trọng tại các cuộc họp là gì?

A. An ninhB. Biến đổi khí hậu C. Kinh doanh D. Kinh tế

Thông tin: Anthony Nelson is a director at the US – ASEAN Business Council in Washington. He believes that security will be an important issue at the meetings, especially after the terrorist attacks in Paris last week.

Tạm dịch:
Anthony Nelson là giám đốc của Hội đồng Kinh doanh Hoa Kỳ - ASEAN ở Washington. Ông tin rằng an ninh sẽ là một vấn đề quan trọng tại các cuộc họp, đặc biệt là sau vụ khủng bố ở Paris vào tuần trước.

Question 45: According to the passage, what aspects tends to happen around the ASEAN economic ministers?


A. Security 
B. Climate change 
C. Business 
D. Economy

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Theo đoạn văn, những khía cạnh nào có xu hướng xảy ra xung quanh các bộ trưởng kinh tế ASEAN?

A. An ninh

B. Biến đổi khí hậu

C. Kinh doanh

D. Kinh tế

Thông tin: A lot of the work that business gets really involved in tends to happen around the ASEAN economic ministers' meeting in August." But, the AEC may have only limited influence on business activity when it comes into being next year.

Tạm dịch: Rất nhiều công việc mà doanh nghiệp thực sự tham gia có xu hướng diễn ra xung quanh cuộc họp các bộ trưởng kinh tế ASEAN vào tháng 8. "Tuy nhiên, AEC có thể chỉ có ảnh hưởng hạn chế đến hoạt động kinh doanh khi nó ra đời vào năm tới.

Question 46: According to the passage, how many countries in the ASEAN will start limited trials?


A. 3 
B. 5 
C. 7 
D. 10

Phương pháp giải:
Đọc hiẻu chi tiết

Giải chi tiết:
Theo đoạn văn, có bao nhiêu quốc gia trong ASEAN sẽ bắt đầu các thử nghiệm hạn chế?

A. 3B. 5 C. 7 D. 10

Thông tin: "The ASEAN single window, which is a customs project, is still very much a work in progress. But beginning next year they will start limited trials with five of the 10 ASEAN countries.

Tạm dịch: "Cơ chế một cửa ASEAN, là một dự án về hải quan, vẫn đang trong quá trình hoàn thiện. Nhưng bắt đầu từ năm tới, họ sẽ bắt đầu các thử nghiệm hạn chế với 5 trong số 10 nước ASEAN.

Question 47: The word “implenmenting” is closet in meaning to ___________


A. carrying out 
B. producing 
C. concentrating 
D. focusing

Phương pháp giải:
Từ vựng

Giải chi tiết:
Từ “implennating” ở dòng 20 có nghĩa là ___________

A. thực hiệnB. sản xuất C. tập trung D. tập trung

Thông tin: But there's still a lot of work to be done in terms of actually implementing those agreements.

Tạm dịch: Nhưng vẫn còn rất nhiều việc phải làm để thực hiện các thỏa thuận đó.

Question 48: The word “integation” can be replaced by __________


A. utilization 
B. contribution 
C. combination 
D. separation

Phương pháp giải:
Từ vựng

Giải chi tiết:
Từ " integation " có thể được thay thế bằng __________

A. sử dụngB. đóng góp C. kết hợp D. tách

Thông tin: Civil Society Conference and ASEAN Peoples' Forum expressed concern about regional economic integration.

Tạm dịch: Hội nghị Xã hội Dân sự và Diễn đàn Nhân dân ASEAN bày tỏ quan ngại về hội nhập kinh tế khu vực.

Question 49: According to the passage, what would delay the increase of the economy?


A. the recession 
B. the poverty 
C. the move 
D. the employment

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Theo đoạn văn, điều gì sẽ làm trì hoãn sự gia tăng của nền kinh tế?

A. suy thoáiB. cái nghèo C. sự di chuyển D. việc làm

Thông tin: Civil Society Conference and ASEAN Peoples' Forum expressed concern about regional economic integration. In a statement, the group said such a move would mean unequal and unsustainable economic growth.

Tạm dịch: Hội nghị Xã hội Dân sự và Diễn đàn Nhân dân ASEAN bày tỏ quan ngại về hội nhập kinh tế khu vực. Trong một tuyên bố, nhóm cho biết một động thái như vậy sẽ có nghĩa là tăng trưởng kinh tế không bình đẳng và không bền vững.

Question 50: According to the passage, who require more assurance?


A. travellers 
B. immigrants 
C. residents 
D. tourists

Phương pháp giải:
Đọc hiểu chi tiết

Giải chi tiết:
Theo đoạn văn, ai yêu cầu đảm bảo hơn?

A. du khách

B. người nhập cư

C. cư dân

D. khách du lịch

Thông tin: “Cross - border migrant workers don't have the same level of protection or interest in the whole negotiation

Tạm dịch: Người lao động di cư xuyên biên giới không có cùng mức độ bảo vệ hoặc quyền lợi trong toàn bộ cuộc đàm phán

Chú ý khi giải:
Nội dung dịch:
Hiệp hội các quốc gia Đông Nam Á (ASEAN) là tổ chức chính trị và kinh tế chính cho khu vực đó. Hội nghị thượng đỉnh các nhà lãnh đạo là cuộc họp cuối cùng của họ trước khi ra mắt Cộng đồng Kinh tế ASEAN, hay AEC, vào ngày 31 tháng 12.

AEC sẽ tương đương với nền kinh tế lớn thứ bảy thế giới. Nó được thành lập để tạo ra một thị trường đơn lẻ và khu vực sản xuất có tính cạnh tranh cao. Các nhà tổ chức hy vọng nó sẽ làm giảm bớt sự di chuyển vốn, hàng hóa, đầu tư, dịch vụ và lao động có tay nghề cao giữa các nước ASEAN. Mục tiêu là làm cho toàn bộ khu vực trở nên cạnh tranh hơn và thành công hơn về mặt kinh tế. Tuy nhiên, một số nhà lãnh đạo doanh nghiệp có kỳ vọng thấp đối với hội nghị cấp cao ASEAN. Anthony Nelson là giám đốc của Hội đồng Kinh doanh Hoa Kỳ - ASEAN ở Washington. Ông tin rằng an ninh sẽ là một vấn đề quan trọng tại các cuộc họp, đặc biệt là sau vụ khủng bố ở Paris vào tuần trước.

“Hội nghị thượng đỉnh tháng 11 bao gồm Hội nghị thượng đỉnh Đông Á, chủ yếu tập trung vào các vấn đề chính trị và an ninh. Vì vậy, đó sẽ là một phần quan trọng của những gì thực sự đang diễn ra xung quanh hội nghị thượng đỉnh. Rất nhiều công việc mà doanh nghiệp thực sự tham gia có xu hướng diễn ra xung quanh cuộc họp các bộ trưởng kinh tế ASEAN vào tháng 8. "Tuy nhiên, AEC có thể chỉ có ảnh hưởng hạn chế đến hoạt động kinh doanh khi nó ra đời vào năm tới. Các chuyên gia kỳ vọng ít thay đổi lúc đầu vì vẫn còn nhiều việc phải làm.

"Cơ chế một cửa ASEAN, là một dự án về hải quan, vẫn đang trong quá trình hoàn thiện. Nhưng bắt đầu từ năm tới, họ sẽ bắt đầu các thử nghiệm hạn chế với 5 trong số 10 nước ASEAN. Nhưng vẫn còn rất nhiều việc phải làm để thực hiện các thỏa thuận đó. " Một số nhà phê bình cho rằng AEC sẽ chủ yếu giúp các doanh nghiệp chứ không phải phần lớn người dân ở Đông Nam Á.

Hội nghị Xã hội Dân sự và Diễn đàn Nhân dân ASEAN bày tỏ quan ngại về hội nhập kinh tế khu vực. Trong một tuyên bố, nhóm cho biết một động thái như vậy sẽ có nghĩa là tăng trưởng kinh tế không bình đẳng và không bền vững. Điều này cho biết sẽ "làm trầm trọng thêm tình trạng nghèo đói và bất bình đẳng về giàu nghèo." Jerald Joseph là đồng chủ tịch của Diễn đàn Nhân dân ASEAN. Ông nói rằng những người vượt biên để tìm việc làm cần được bảo vệ nhiều hơn. Ông nói: “Người lao động di cư xuyên biên giới không có cùng mức độ bảo vệ hoặc quyền lợi trong toàn bộ cuộc đàm phán. Vì vậy, đó là một chút đáng tiếc, một cơ hội lãng phí, nếu nó không được phản ánh trong văn bản sắp tới. ” Hội nghị Cấp cao ASEAN lần thứ 27 bao gồm các đối tác của tổ chức. Các quốc gia bao gồm Trung Quốc, Ấn Độ, Nhật Bản và Hoa Kỳ sẽ tham dự.

Write a paragraph of 120-150 words on the following topics

Question 51: What are the advantages of living in the city?

Phương pháp giải:
Phân tích đề bài
- Về hình thức: Đoạn văn - Số lượng: 120-150 từ

- Về nội dung: Trình bày lợi ích của việc sống ở thành phố

Hướng làm bài:
- Chọn 1-2 lợi ích tiêu biểu – giải thích và đưa ra ví dụ minh họa để bảo vệ luận điểm, không nên trình bày dài dòng bằng cách liệt kê nhiều lợi ích sẽ khiến cho đoạn văn lan man

- Sử dụng các từ nối để đoạn văn trở nên mạch lạc ( chú ý các từ được in đậm trong bài viết mẫu)

Giải chi tiết:
Bài viết mẫu tham khảo:
Even though city living has its inconveniences, it makes up for these inconveniences with all that it has to offer. One of the advantages of living in a city is the extensive transportation systems available and best medical service. In fact, when you live in a small town or village, you're usually on your own when it comes to transportation. However, everything and everyone is right outside your door when you live in the city. Take public buses, trams, or trains to get anywhere in town quickly. Furthermore, when compared to the big city, rural areas lack the necessary facilities and resources for proper medical care. Therefore,  most people who live in remote areas must travel long distances to see a doctor or specialist. Living in a big city mitigates this disadvantage significantly. Within cities, competition forces medical centers to hire only the most well-trained personnel, virtually ensuring the most flawless care available.

Chú ý khi giải:
Tạm dịch:
Mặc dù cuộc sống thành phố có những bất tiện của nó, nhưng nó bù đắp cho những bất tiện này bằng tất cả những gì nó mang lại. Một trong những lợi thế khi sống trong thành phố là có hệ thống giao thông rộng khắp và dịch vụ y tế tốt nhất. Trên thực tế, khi bạn sống ở một thị trấn hoặc làng nhỏ, bạn thường tự đi lại. Tuy nhiên mọi thứ sẽ đều ở ngay bên ngoài cửa nhà bạn khi bạn sống trong thành phố. Đi xe buýt công cộng, xe điện hoặc xe lửa để đến bất cứ đâu trong thị trấn một cách nhanh chóng. Hơn nữa, so với thành phố lớn, các khu vực nông thôn thiếu các phương tiện và nguồn lực cần thiết để chăm sóc y tế thích hợp. Vì vậy, hầu hết những người sống ở vùng sâu vùng xa phải di chuyển xa để đến gặp bác sĩ hoặc chuyên gia. Sống ở một thành phố lớn giúp giảm thiểu đáng kể nhược điểm này. Trong các thành phố, sự cạnh tranh buộc các trung tâm y tế chỉ thuê những nhân viên được đào tạo tốt nhất để đảm bảo sự chăm sóc hoàn hảo nhất có thể.

------------- HẾT -------------
